Question 1:  Evaluate each of the following
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Question 2:  Write each of the following in index f;rm 4 lo O
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Question 3:  Write each of the following in the form 2"
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Question 4:  Write each of the following in the form 5"
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Question 5:  Write each of the following as fractions
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Question 6: Write edch of the following in index form '
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Question 7-S_ Write each c§ the following as fractions :7 m

(a) 5y-27 () gc-1€ (9) (5x)‘2 (d) (zy)-3 (e) 2x'3 0 (10w)3
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Question 8:  Write each of the following in index form
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Question 9:  Write each of the following as fractions
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Question 10: Write each of the following as fractions
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Question 1:  Arrange in order from smallest to largest. SO )
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Question 2: Work out
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Question 3:  Sally has completed her homework.
Can you spot any mistakes? qestion 1
Evaluate
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Question 4: Giventhat 2" + 2" = — -1 -
Work out MmN L= " L
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Question 2
Work out
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Question 5: .
x2 X0 x i

Put the expressions above in or;den from smallest to largest, when: 0 =t
xh 1,2 Al X0,7,X00 7,,0 1
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